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5 ?ingle Phase AC bridge rectifier as shown in Figure 2(c) is operating at
delay angle o = 45°. The thyristor T3 gets damaged and behaves
4S an open circuit. Caleulate the value of load resistance R if load

current is 3-1556 A_ 10
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Figure 2(c)
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A 4-pole single phase 50 Hz induction motor is having val

Xg equal to 002 ohm and 0-5 ohm respectively. C algc:m:,% u::: I:;:pa?;
maximum torque and the speed corresponding to maximum torque.

SR istance and leakage reactance are to be neglected. 10
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The amplifier shown in Figure
“n‘ = t l‘\f\f\' Nl‘ﬂll‘l ““H v

(i) determine the “'"“‘llntl Kain

(i) determine the value of C
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The diagram of Master-Slave S-R flip-f
-flo

the Master flip-flop is shown in Figure P and the Wavefory,

5(a). appl;
B ot e G a). Draw the wamfo:fd to
: that

1
1
3 4
V—> t
" I
| 1
| |
| |
|
|
[
'_ S
1 |
| ]
1 |
i 1
i 1
1
|
| g
! 1
- |
Input waveform
Figure 5(a)
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The power supplied to a 3-phase induction motor is 40 kW ang the
corresponding stator losses are 1:5 kW. Calculate the net (shaft)
mechanical power developed and the rotor Cu loss, when the slip is
0-04 pu. What will be the net power developed if the speed of the aboye
motor is reduced to 40% of the synchronous speed by means of external
rotor resistance, assuming the torque and stator losses remain

unaltered ? Friction and windage losses may be assumed to be 0-8 kW. Il

T FAEH 50 sin (2z x 105 t) F1 T 77 A9 GHa 10 sin (27 < 500 1) 5
T AW Higew R W 2 | Peffa fif

@) g g
(i) TS 9 9T IGN = wEm
(i) =S 43 fEw

(iv) 500 Q¥R %I Weu i uifts




12 = - Vl + 2V2
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For a two-port network, the currents |
I =2V, -V i
. , 2 Biven below
12 == Vl + 2V2
Find the transmission and hybrid parameters of the network
ork.
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The plane wave E = 30 cos (wt —2z) ay V/m in air normally hits a lossless

medium (jt = po, € = 4gg) at z=0.

(i) Find reflection coefficient (I'), transmission coefficient (1), standing
wave ratio (S).

(i) Calculate the reflected electric and magnetic fields. 20

aﬁmﬂﬁ'&ﬁ(ﬁi@z{)%mﬂﬁﬁ L, aif@ Cd
., mﬁmmﬁmmﬁmm|mﬁ%ﬂmlev,
it dreem 4 V, @ S deedl (SER) 30 mv 2 | FrAmS (FgE)
;.‘Hmmmz%ﬁﬂatqﬁmﬂm%aimﬁﬁmwﬁmmw

[ o
b2 wx | Va=5V
- v
fer 6(b)
17

16






current in inductance 18075 A.
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A three-phase, 5 kW, 440 V, 6

pole, star connected g

ynchronoys
- operated at 0-8 rated power factor lagging. Calculate

- () Torque angle at full load
(i) Pull-out torque

Treactance of g 0 :
the following . ;

(iif) Armature current and power factor at half the rated torque
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d Y are two independent random variables with probability density
0
1 DT given by
for -2<x52
0 otherwise
AeS for 0sSy<e
0 otherwise
g nine A. 20
i ' j £7=3X+ 4Y.
Determine the probability density function ©
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Evaluate both  gides
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of Stokes theorem for the g 4
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Differentiate between the
Counter with example.
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; i al x(t) 1s
deﬁned by fle SYstem shown in Figure 8(b)(ii). The sign

gfhe;‘l"w-pass filter has unity gain in the passband and bandwidth
» here £ < W. The noise n(t) is white with two-sided power

Spectra] density é. Ny. Determine the signal-to-noise ratio of y(t). 10
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Figure 8(b)(ii)
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